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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

1. Answer the following as directed : 1x10=10
@Y APIRA ot PR s o

{a) From which word the term ‘Sociology’
has been derived?

‘Sociology’ *R51 & @ oM ol
&R ?

(b) Give an example of ‘primary group’.
‘N W' b1 S |

A16/552 ( Turn Over )



|
|
\

Al16/552

(2)

(c) Students in a large classroom is a
group.
(i) social -
(i) primary
(iii) statistical
(iv) associative

(Choose the correct option)
Y] e (iR RaRares 2'e ot
Wl
(i) -Tofe
(ii) enafi
(i) ~ReRe
(iv) Afifere

(R Rt afk efrea)

(d) Mention one factor of social change.

TS RS <O IRT Sy 79 |

() What is social disorganization?

AN Reaerer 7 2

() “Culture is acquired.”
(Write Yes or No)

gl it 17 (= 1 7= o)

( Continued )
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(3)

(g9 Who was the exponent of ‘cultural

lag™

ST POIRTOC’A TERF (I SR ?
(h) Write one characteristic of

modernization.

STRBRAR Bt Cafis B |

(i) Mention one cause of imbalance in
education of India.

SR e SRR b1 I SEd
%90 |

(i) Who was Auguste Comte?
Auguste Comte (I SIfRe 2

2. Write short answers of the following :
2x5=10

wre FARIRT oy Teq o

(a) Write two aims of Educational
Sociology. ‘

TR -sprerfer 51 T oy
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(b) Write two characteristics of social {d) Types of culture
group. HEFIOT AT
AR o K51 CIREs e |

(e) Child labour
(c) Mention two functions of culture.

fre =i
HEHRET 51 FIN T 319 |
| () Social control
(d) What is folkways? ) J g
\ W EnEA
TRt 2 |
(e) What is delinquency? "
59 4. What is educational sociology? Descn'e
RHERTS! 7 ‘ the need of sociological approach m—lO
3. Write short not four of th education. e
- WINC short notes on any four of the i o
following : 5x4=20 Frl-SERER 7 Free Teee e
o R (T SRBR o et v acATeARe Raea 31 4 0
{(a) Social interaction | Or / 34
e What is meant by group dynamic?? EXP lair;
. the nature and educational implications 0
Prim ou . =
(b) ary group group dynamics. 4+6=10
T .
@ e g R e T e
f (c) Leadership 23S e O Sieerd W |
; -
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( 6 ) (7))

S. Define socialization. Explain the role of 7 What is Westernization? Describe Fhe
school in the socialization of a child. impact of Westernization on Indian o
4+6=10 society. 4+6=
TSR K@ T @6l Prew SwiSieders R [§7 oReR TEEe AN
T e R e s | o[S SFCE TT 4 |
Or / J41
Or / 31

What is social change? Explain the role of

family and school as agencies of social What is meant by  equalization

change. 2+4+4=10 of educational opportunity? Suggest

T et o RS e wifen measures for equalization of educational 5
~ ~ % . 4+6=1

R AR we fers shieR Raen amsm opportunity-in: India,

911

e SIRYR STeRRe IfrE & e 7 SReS

PP R 0] THR A AR F9ECeHT |
6. Write about the causes of social ‘ﬁﬁ

disorganization. Suggest some measures

to prevent social disorganization. 5+5=10 X dek
As  Repmen RaEE R s

e afScaram ca ey, 2= SsEesrR |
or/ =¥

Write the meaning and nature of ‘culture’.
Explain about the relationship between
education and culture. 5+5=10

Sieeghe’s uid Oe 2gied [uey o | P wee
ATTHIGd WSS ] STFTT (98¢ W1 4 |
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